SUB-TEST TEN
rous Al

DIRECTIONS

This Lest conlains questions of dilferent kinds, Iere is a sample question already answered correetly. Notice how the question is answered :

Which one of the five words below tells what an apple is?

1 flower, 2 tree, 3 vegetable, 4 fruit, Sanimal......eeeenicenns JR T R R R (4)

The right answer, of course, is “(ruit”; so the word “fenit” is underlined. And the word “fruit’” is No, b; so a figure 3 is placed in the
parentheses sl the end of The dotled line, This is the way you are Lo answoer the questions.

Pry this sample question voursell. Do el wrile e answers just deaw a line under iUand Then pulits number in the parenlheses:
W hiek one of The five words below means the opposite of north?
1 pole, 9 equalor, 3 south, 4 enst, 5m.st...( )

Phe answer, of course, is “sonth™; so vou shonld have drawn a line under the word “south™ and put a figure 3 in the parentheses. Try

Lhix one:

A foot is Lo a man and a paw is to u cat, the same as a hoof is to a—what?

1 dog, 2 lorse, 3 shoe, 4 blacksmith, 5snlltl]u..................................................( )

The answer, of course, is “lorse™ ; so you should have drawn a line under the word “horse” and put a figure € in the parentheses. Try
this one: .

At four cents each, how many cents will 6 peneils cost? .............................................................( )

The answer, of course, is 24, and there is nothing to underline; so just put the 24 in the parentheses.

Tf the answer Lo any question is o nomber or a letter, put the number or letter in the parentheses without nnderlining anything. Make all
letters like printed eapilals, '

The test contains 75 questions, You are not expected to be able to answer all of them, but do the best you ean. You will be allowed half an
hour. "Try to get as many right as possible, Be carcful not to go so fast that you maice mistakes. Do not spend too much time on any one
guestion, :
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1. The opposite of hate is (?)

teaemy, 2fear, glove, gfriend, sjoy.........oo.oiiiiiiiii .
2. If 3 pencils cost § cents, how many pencils can be bought for se cents?. ...................
3- A bird does not always have (?)

T wings, 2cyes, 3icathers, 4anest, sabill............. Cerresaaes
4. The opposite of honor is (?)

1glory, 2 disgrace, 3 cowardice, 4fcar, sdefeat....... cerranne . cerranaaas .
5. A fox,most resembles a (?)

1woll, 2goat, 3pig, 4Uger, SCAL.................iiii
6. Quiet is related to sound in the same way that darkness is related to @)

Taccllar, 2sunlight, 3 noise, 4 stillness, sloud....... e ereeaenaaaas Ceeraiaae
7. A party consisted of a man and his wife, his two sons and their wives, and four children in

each son’s family. How many were there in the party?.......... Cerraneaas ceraaen feveas

8. A tree always has (?)
tleaves, 2fruit, 3buds, 4 roots, 52shadow. ...ttt

9. The opposite of economical is (?)

1 cheap, 2stingy, 3extravagant, 4value, grich................

10. Silver is more costly than iron because it is (7)
1 heavier, 2 scarcer, 3 whiter, 4 harder, 5 prettier,............. Ceereaas ceneae .
11. Which one of the six statements below tells the meaning of the following proverb? “The early
bird catches the Worm.”. .. ... ..o it ees

1. Don’t do the impossible,

2. Weeping is bad for the eyes.

3. Don’t worry over troubles before they come,

4. Larly birds like worms best.

§- Prompt persons often secure advantages over tardy ones.
6. It is foolish to fret about things we can’t help.

-12. Which statement above tells the meaning of this proverb? “Don’t cry over spilt mille.”. ...
13. Which statement above explains this proverb? “Don't cross a bridge till you get to it.”...,
14. An electric light is related to a candle as an automobile is to *

1 a carriage, 2 clectricity, 3 atire, 4 speed, sglow.........ouu.. eeaenan
15, If 2 boy can run at the rate of 6 feet in 14 of a second, how far can he run in 10 seconds?. .. .
16. A meal always involves (?)

tatable, 2dishes, 3hunger, 4food, §swater..................
17. OI the five words below, four are alike in a certain way. Which is the one not like these four?

1bend, 2shave, 3chop, 4whittle, §SheAr.,......eevvrreersnnrsrernnn.,.
18. The opposite of never is (?)

1 olten, 2 sometimes, 3 occasionally, 4 always, 5 frequently....... e neiasensnsann
19. A clock is related to time as a thermometer is to (?)

rawatch, 2warm, 3abulb, 4mercury, Stemperaturc. .. iiiii i,
20. Which word makes the truest sentence? Men are (?) shorter than their wives,

1 always, 2 usually, ;-Imun:h, 4mre|3_', § DEVCr...... .

Do not stop. Go on with the next page.
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21. One number is wrong in the following serics, “What should that number be?
1435364759-69 ..................... P

22, If the first two statements following are true, the third is (?). All members of this club are
Republicans,  Smith is not a Republican, Smith is a member of this tlub.

1 true, 2 false, gmotcertain..........oovevennes feeeesirusrreabresaane
23. A contest always has (?)
1 an wnpire, 2 opponents, 3 spectators, 4 applause, § victory....... cedaeais Abe

24. Which number in this series appears a second time nearest the beginning?
6 4 s 3 7 8 o 9 5 9 8 8 G 5 4 7 3 0 8 91

25. The moon is related to the carth as the earth is to @
1 Mars, 2 thesun, 3clouds, 4stars, §theumiverse...........cooove Ceeaes e

26. Which word makes the truest sentence? Fathers are (?) wiser than their sons.

1always, 2usually, 3much, -4rarely, STMEVET.....cocovvrrierrcruieiveerneeees
27. The opposite of awkward is Q) )

1 strong, 2 pretty, 3 short, sgraceful, sswift....ieiiiiiisiiiiaiiiiiiee
28. A mother is always (?) than her daughter.

1 wiser, 2 taller, 3 stouter, 4 older, 5 more wrinkled...... T
2. Which one of the six statements below tells the meaning of the following proverb? “The
burnt child dreads the Sre. ..o veieiiaiinnaiiiarinaees P

1. Frivolity flourishes when authority is absent. )

2. Unhappy experiences teach us to be carcful.

3. A thing must be tried before we know its value.

2. A meal is judged by the dessert.

5. Small animals never play in the presence of large ones.
6. Children suffer more from heat than grown people.

30. Which statement above explains this proverb? “When the cat is away, the mice will play.”
31, Which statement above explains this proverb? “The proof of the pudding is in the eating.”

32. If the settlement of a difference is made by mutual concession, it is called a ")
1 promise, 2 compromise, 3 injunction, 4 coercion, § restoration. .. cieesvrssnnnaes

33- What is related to diseasc as carefulness is-to accident?

1 doctor, 2 surgery, 3 medicine, 4 hospital, § sanitation............ trevessreranas

34. Of e five things below, four arc alikein a certain way. Which is the one not like these four?

1 smuggle, 2 steal, 3 bribé, 4 cheat, ssell iiiiiiniiiiiiiie

35. If 10 boxes full of apples weigh 400 pounds, and each box when empty-weighs 4 pounds, how

much do all the apples weigh?. ...oovevnns
36. The opposite of hope is (?)

1 fuith, 2 misery, 3 sorrow, 4 despair, shate........ooeenis vesqrrearrrasennees .

37. Tf all the odd-numbered letters in the alphabet were crossed out, what would be the tenth
letter not crossed out? - Print it. Do nof mark the alphabels o.vovvuerresrirnseresuseer
ABCDEFGHIJKLMNOPQRSTUVWXY?Z
38. What letter in the word SUPERFLUOUS is the same number in the word (counting from the
beginning) as it is in the alphabet? Print it eeeeseemsssssesanonaas
30. What people say about a person constitutes his (?)
1 character, 2 gossip, 3 rcputation, 4 disposition, § personality. . isvereseeriranns
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40. Ti 2)4 yards of cloth cost 3o cents, what will yo yards cost?.......... Cerraas S

41. If the words below were arranged to make a good senlence, witlt what letter would the second
word of the sentence begin?  Make it like a printed capital,
same means big luge the as......cii
42. If the first two statements [ollowing are true, the third is (?) George is older than Frank.
James is older than George.  Frank is younger than James.

Do not stop. Go on with the next page.
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1lrue, 2false, gmotcertain........covvviiiinininnciiiiiiinn Crreaseearanas (
43. Supposc the first and second Ietters in the word CoNSTITUTIONAL were interchanged, also ihe
phird and fourth letters, the Gfth and sixth, cte. Print the letter that would then be the twelith
letter counting to the right./................ e ad et eser e raaaaeeeiaiaaeatnanae (
44. One number is wrong in the following serics. 'What should that number be?
o 1 3 6 10 15 -2 28 F4e.ieiiieieiiiiiiiieennns cesesrraarassreas (
45. If 24 yards of cloth cost go cents, what will 214 yards cost? ............ P |
46. A man's influence in a community should depend upon his (?)
1 wealth, 2 dignity, 3 wisdom, 4 ambition, g political.power......oivivivienannen (
~47. What is related to few as ordinary is to exceptional?
1none, 2S0me, 3mMany, 41658, SMOTE.....eeeesssrrrersnrasnnrerrrrrisansnes
48. The opposite of treacherous is (?)
1 friendly, 2z brave, 3 wise, 4 cowardly, sloyal............... R |
49. Which one of the five words below is most unllke the other four?
1 good, "z large, 3red, 4 walk, §thick........... e e P (
so. If the first two statements following are true, the third is (?) Some of Brown’s friends are
Baptists, Some of Brown’s friends are dentists, Some of Brown's friends arc Baptist dentists.
1 true, 2 false, 3motcertain........ feresassirsuanmennnd Pt (
51. How many of the following words can be made from the letters in the word LARGEST, using
any letter any number of times?
great, stapgger, grasses, trestle, strugple, rattle, garage, strangle..... PR ¢
§2. The statement that the moon is made of green checese is (?)
1 absurd, .2 misleading, 3 improbable, 4 unfair, 5wicked.siovverieenieriiniianaes (
3. Of the five things following, four are alike in a certain way. Which is the one not like these four?
I tar, 2 snow, 3soot, 4ebony, scoal......cooiniiannns sesesersarensazaries een [
34. What is related to 2 cube in the same way in which a circle is related to a square?
1 circumference, 2 sphere, 3 corners, 4 solid, § thickness.......coooviiiiiiiiin, (
ss. If the following words were scen on a wall by looking in a mirror on an opposite wall, which
word would appear exactly the same as.if seen directly?
I0HIO, 2 SAW, 3 NOON, 4MOTOR, §OTTOu...eeeerss srnronsnsens rerrenanean {
56, Tf a strip of cloth 24 inches long will shrink to 22 inches when washed, how long will a 36-inch
strip be after shrinking?. .......oo0v i i, rreeseriairarraaas eeiranaeeas weens (
57. Which of the following is a trait of chavacter?
1 personality, 2 estcem, 3 love, 4 genercsity, §health..... SRR - veeveirenenaes
8. Find the two letters in the word potne which have just as many letters between them in the
word as in the alphabet. Print the one of these letters that comes first in the alphabet....... (
ABCDEFGHIJKLMNOPQRSTUVWXYZ
50. Revolution is related to evolution as flying is to (?)
1 birds, 2 whirling, 3 walking, 4 wings, ;5 standing..... aresonens TP o
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One number is wrong in the following series.  What should that number be?

b S T AR - JE -
Ii Frank can ride a bicycle 30 feet while George runs 20 feet, how far can Frank ride ulnle
George TUNS 30 F0etP. . v ettt e e ie e,
Count cach N in this series that is followed by aii O next to it if the O is not followed by 2 T
next to it.  Tell how many N’s you count.

NONTQMNOTMONOONQMNNOQNOTONAMONOM
A man who is averse to change and progress is said to be (?)

1 democratic, 2 radical, 3 conservative, 4 anarchistic, gliberal...................
Print the letter which is the fourth letter to the left of the letter which is mldway between O
and S in the alphabet. et eeseaaarcsaraesatnseasasnsaerterrasetasae sanonaansraarens

What number is in the space which is in the rectangle and in the triangle but not in thc circle?

N\ 2/ N

What number isin the same geometrical figure or figures as the number 87........u..... .
ltow many spaces arc there that are in any two but only two geometrical figures?. ... ...
A surface is related o a line as o line is to (7)

1solid, zplane, Fourve, qpoint, SString.. ..., Cereeeeeas
If the first two statements following are true, the third is (?)  One cannot become a good vio-
linist without much practice. Charles practices much on the violin.  Charles will become
a good vivlinist,

rtrue, 2false, -3 MmOt Certain. ...t i i et areaas

If the words below were arvanged to make the best sentence, wuh what lettu- would the Iust
word of the sentence end? Print the letter as g capital,

smccrlty iraits courtesy character of desirable and are.. cereisaiaes
A man who is influenced in making a decision by preconceived qnmons is s:ud to be (?)

1 influential, 2 prejudiced, 3 hypocritical, 4 decisive, s5impartial............ cesins
A hotel serves a mixture of 2 parts cream and 3 parts milk. How many pints of cream will it
take to make x5 pints of the mixture?................c.oiiiiiiin i, crseerniraran
What is related to blood as physics is to motion?

1 temperature, 2 veins, 3body, 4 physiology, s geography....... Creererreraeiaas
A statement the meaning of which is not definite is said to be (?)

1 crroneous, 2 doubtful, 3 ambiguous, 4 distorted, s hypothetical................ .
If a wirz 20 inches long is to be cut so that one p:eoe is 3/ as long as the other piece, how long
must Lhe shorter Piece BE?.. v euivaiaissasiiinnnnaleerrasnnseeeanssassernnses Cerreeens .

11 YOU FIKISIE WORK 0X T TEST DEFONR TIME I3 CALLED, IECHECK YoU'lt ANSWERS,
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